Rezultati tihih vaj ELEKTRODINAMIKA

Priimek in ime 1l.vaja 2.vaja 3.vaja Vsota |0cena
27.10.2014 17.11.2014 1.12.2014
1 |Balaban Nikola 1 6 - 7 0%
2 |Balazic¢ Marko 6 8 7 21 71%
3 |Breskvar Robi 4 7 9 20 65%
4 |Jancar Denis 8 6 7 21 71%
5 |Krsmanovic¢ Nikola 4 5 - 9 0%
6 |Pirc Luka 8 6 6 20 65%
7 |Saje Tadeja 8 5 11 24 88%
8 |Sokl1i¢ 3Jure 8 11 7 26 100%
9 |Scek Andrej 7 6 - 13 24%
10|Selj Blaz 8 8 9 25 94%
11 Strubelj ziga 8 5 5 18 53%
12 |\vuk Baliz Kristjan |4 6 - 10 6%
13 |Zagar Klemen 8 7 10 25 94%
max,/min 8/1 11/5 11/5 26/7 %gO%/
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